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Quiz 10 STAT 381, APPLIED STATISTICAL METHODS I, SPRING 2015
NAME:

Uonsumers have recently been complaining that the DUIDS S0ld DY ACIE KIECITIC are
unusually dim. A random sampling of 25 “60 watt” bulbs were tested, and the average
wattage was actually 58.2 watts with a standard deviation of 1.8. We wish to determine
if the consumers are correct.

a) (2 points) State the null and alternative hypotheses.
Ho: W= 60
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b) (2 points) Assuming the population is normal, what is the value of the test statistic,
and what is its distribution (include parameter value(s))?
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c) (2 points) What rejection region would you use at the significance level of o = .057
<171
d) (£ pomnts) What 1s the P-value of the test statistic/
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e) (2 points) What is your conclusion using a = .057

There is st evidlne P reject Hy) Tha budbs are do~

Bonus (6 points) If in fact the true g = 57 watts, what is the power of this test (using
a = .05)7

Hint: Convert the critical value of T to a critical value of X, and find the probability
that X falls into the rejection region when u = 57.
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